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TOPIC : Ranking and Ordering

Name of the Candidate *

M5 v

Place of the Candidate *

Thrissur A



WHATS APP NUMBER (JOINED IN SAI EDUCATION ONLINE COACHING
PLATFORM GROUP) *

1111111111
Please watch the following classes and answer the following 25 of 25
questions points

https://youtu.be/CyQOovuVVo0
https://youtu.be/R7P52KQkmS0

v 1) Inarow of children, Navya is 15th from the left end and 18th from the 1/1
right end. Find the total number of students in the class? *

() 30
@ 32 v
() 42
() 33

v/ 2)Inarow of 44 people, Sunil is 27 from the left end. Then What is his 1/1
position from the right end? *

() 15
() 20


https://www.google.com/url?q=https://youtu.be/CyQ0ovuVVo0&sa=D&ust=1583500541435000&usg=AFQjCNEz1FvIvCbq9TrjmhKv5RoOE4gfpA
https://www.google.com/url?q=https://youtu.be/R7P52KQkmS0&sa=D&ust=1583500541435000&usg=AFQjCNG3jPebI1agepxWIQgsbOsIS6M2FQ

() 23

v 3)Inarow Anand and Arun are 12th from left end, 13th from right end 1/1
respectively, having 4 people in between them. Then total number of
people in the row is equal to ? *

® 2 v
() 31
() 35
O 28

v/ 4)Inarow Raman and Hari are 17th from left end, 12th from right end 1/1
respectively. When they are interchanged their position. Raman's new
position is 21 from left end. Then total number of people in the row is
equalto ? *

() 30
() 31
@ 32 v
() 33



v/ 5)Inarow of persons, positions of 'P' from left side of the row is 9th and 1/1
position of 'Q' from right side of the row is 8th. If 'R is sitting just in the
middle of P & Q and positions of 'R' from left side of the row is 15th. Find
the total number of persons in the row? *

25
28 v

30

31

OO0 ®O0O

v/ 6)Zivais 6th from the left end and Zuha is 10th from the right endina  1/1
row of girls. If there are eight girls between Ziva and Zuha, how many
boys are there in the row? *

(O 21
() 23
@ 24 v
() 25



v

O ® OO

v

OO0 ®O

7) In a row of girls, Nithya and Vidhya occupy the 9th place from the right 1/1
end and 10th place from the left end, respectively. If they interchange

their places, then Nithya and Vidhya occupy 17th place from the right and
18th place from the left respectively. How many girls are there in the

row? *

22

24

26 v

28

8) In a queue of children, Arun is 5th from the left and Suresh is 6th from 1/1
the right. When they interchange their places among themselves, Arun
becomes 13th from the left. Then, what will be Suresh’s position from the
right? *

10

14 v
15

16



v/ 9)Inaqueue, Divya is 10th from the front while Manu is 25th from behind 1/1
and Maya is just in the middle of the two. If there be 50 persons in the
queue, What position does Maya occupy from the front? *

20th
19th

17th

@ O OO

18th v

v 10) Inarow of boys, if Arjun who is tenth from the left and Balu whois  1/1
ninth from the right interchange their positions. Arjun becomes fifteenth
from the left. How many boys are there in the row? *

@® 23 v
() 24
() 25
() 26

v 1) Ais greater than 3 but less 8 Also, it is greater than 6 but less than 10. 1/1
The number is? *

® 7 v



v/ 12) AB,C,D and E are 5 students of different heights. A is taller than only 1/1
C, Bis shorter than only E. Who is the tallest person of this group? *

v/ 13) A,B,C,D and E are participated in an examination. Raju was ranked 1/1
lower than Sonu, Venu was ranked higher than onu Dinesh, Krishna was
between Raju and Venu. Who was highest? *

() Dinesh
() Raju

v/ 14) Rajuis taller than Hari who is shorter than Sunil. Neha is taller than 1/1
Hritik but shorter than Hari. Sunil is shorter than Raju. Who is tallest? *



v 15)Ina queue, Viji is fourteenth from the front and Jack is seventeenth  1/1
from the end, while Mary is in between Viji and Jack. If Viji be ahead of
Jack and there be 48 persons in the queue, how many persons are there
between Viji and Mary? *

v/ 16) Devu ranked ninth from the top and thirty eighth from the bottom in a1/1
class. How many students are there in the class? *

() 44
O 47
() 45
@ 46 v



v/ 17) Inarow of girls facing North, Reena is 10th to the left of Pallavi, who is1/1
21st from the right end. If Malini, who is 17th from the left end, is fourth to
the right of Reena, how many girls are there in the row?

() 37
O s
@ 43 v
() 49

v/ 18) Some boys are sitting in a row. P is sitting fourteenth from the left and1/1
Q is seventh from the right. If there are four boys between P and Q, how
many boys are there in the row? *

() 19
(O 21
() 23
@® 25 v

v~ 19) Vimalis 7 ranks ahead of Sathish in a class of 39. If Sathish’s rank is 1/1
seventeenth from the last, what is Vimal's rank from the start? *

() 11th



() 13th
@® 16th v

() 18th

v/ 20) Saikrishna is fourteenth from the right end in a row of 40 boys. What 1/1
is his position from the left end? *

21

23

25

@ O OO

27 v



v/ 21) Which is the third number to the left of the number which is exactly in1/1
the middle of the following sequence of numbers? *



v/ 22) How many 3’s are there in the following sequence which is neither  1/1
preceded by nor immediately followed by 97 *

@ None of these v



v/ 23) Count each 7 which is not immediately preceded by 5 but is 1/1
immediately followed by either 2 or 3. How many such 7’s are there? *



v/ 24) How many é’s are there in the following series of numbers which are 1/1
preceded by 7 but not immediately followed by 97 *



v/ 25) How many 7’s are there in the following series which are not 1/1
immediately followed by 3 but immediately preceded by 87 *
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